S0, Bvorwed
Telangana <. Today

VA

riorer, $ado 22 H(Eokd 2025

WWWw.nipuna.ntnews.com,
www.facebook.com/ntnipuna

3593, Bworred

A

éé3e35 38‘&) 555&) ) (5055 &’)3:6&) .
o0 @ QD OS7PRODS e35086%8....
- - : - : : . . C50RDODS 27508 BH ROBATRES?
5© i - -
B g, G alE (e, SEEme 805,/ 856 Hdge HIss0 ©R08H 8850 HBPEHS Dt5B00.
B685 pifros® LS wsoss

»

»

e
»

SRS @SR ‘DO’ WOLrLD.
DT wegabo B 6“@;?0& ‘RS
THo" wotr. by 6@?5 IS®
‘sﬁ*’&oé’ 99, ©930B5° gPIS® ‘esl‘_t‘;;;éa’b’
[N 35"&0&?’&).

QO350 Ejvgé Y Keno230 3)%5065 a8
PRSI Boocsearr DB T

80000

8 Hienoeos® Sedogtts, 8 (fen,
I SH S0, ({rikeren,
é‘é&aé&m SOETON.

Ty

»

»

»

»

FE  Henoerdd  Boo
Brthogth SKE DG theap BOENOSE
98 250 QdHS Q0358 e HB08.
& sord) ‘58 BosE 8o woerh.
S Rgg D05&y50 woerth.

BrBgdS® T1 o IS, 26.5 o
$p80%0 ads HrTeen GOEoR.
Kmtﬁog&)e?ﬁ Bo 58 0dso 385 S e,

Km&gé).

»

Venus

Qe85 0D Broed) e (HfsFen
Sotd Sseen

Jupiter

@ L.
W 2 EHfEos KA ed)B. (269, 3ar0)

Neptjne

DBEPS0rP S0eT0w. 90t &P 09
BoEhoR) Pt a8 FHS® dreKeo.

2D

Teomby 89 @0t

» R o 08 EH-2D

W (e Feoren S Koty e
BBNDHER SOEToD.

388 maﬁsoaven

B ErSy) S00d HESH 80N (feo-
RO, Seatd

WSSy S ften— e, HED

» 6:@.; Seosren 6(‘6& ($eSten- %,
C50BER

» S @es SEgen SEpsedore, HoE
oo Bgen BF S)Epsedorrd sotron.

W &R Kty d8 rdore ¢os 8er e
4. & 8P 93m?

(152 MKM) esoedo.

W e drdgR8 S &0G & 2550
3. & B H8Ie® (147 MKM)
90eED.

» o8 Ko Edad @e‘é?goé csgdm &od

3o greden: 2691

R en: ©R0EDV

8B, JoE oBoeen
SHJES® Bt
éowéo&: S 8r.15 Sen
Bowoh Hochs: deed
&8Py BISIS®
D50BH: L0y 5

3e5¢E5: www.unionbankofindia.co.in

55%86%...
22508 8P 285 (255528)88 8o
greBo 2558 H56D DDLSod.
Awdo greden: 4000
F5e0: R0e30

08 13 QbrsoHEeon. 1. D pfibten: mototh, HED, e w8 (Jupiter) B 2 Mo 136° Soghd Eevito 262 03, wigs drdorr aod @ NOVE: BGS 8y, G308

» SrdgBtares (Erg Sorre ErHoS® g a8 (fen: wOPSG, M, 13, W )88 Mt © Bt sob. Hoxiomegscin 4§ 1/6% H0% eotnod. ey e 0 woerd. RBJERS, wrongd BP0,
&P Bomrom. Kordg8leren BP0 B, Jrg, S B 8d (FoRos Yol 26, (fFeH ey W HoD 5708 Srdd Herds 1.3 2. W sforablo, dferdbres 00T a5
B8 éég 5200 8 Doaren. {550 B8 Sogrgome $0836. 00 HEE0. SPaven- a8 21, &odb 22. Q) W°go°

B Srdgd (55079 a0 ($¥50°8 8o 8 aneiocts (Mereury): s (500 B 08 S)B Ekm 00 0N dotwod.  SEEw W oo @ Hen JEESor ol SPeren- o 58gey: @5@5@35
oo Bén KD, W Ketg08 SHUTE ) (fieo, W e 55 seo Ko o W SEeren Sgoho Hseseren. S0y 21, 3020 22 (HE3D ° 95038 555‘,63 11

B RS @eedor Seenrd ermren 8 9% (f&ro. B 6600008 @8 GBS W e wdgod $HES® e S¥Eo- DRHEeD 90, }
ST, 3. M (Fo0e Kol 8t Ko oo HOFE EORS (0 2. omdigtto B araip $00 HEH ansg Bae @ DB www.bankofbaroda.co.in

1. PeR0HE: ad Xyl aHdde erio. EOR &od. ¥ (Saturn): 2x0re& (fseo W SEEeen Soss vodo $85 By eRo, RODIL Pt b alrdrgsdes 80 0K
aéba Sore ol B Ey soeran. Betiog theag edgod Srfore 887 fsro. W 8o FoEs Ko (firo. 8 Benhrod. 50089 ise Brow. oD &I éé\,g@s% Bpsreod 11.2 2EFP E)ég 5. -fs
EreiRo B ioet> 6000 08FE e (Venus): 8 (fikro W 0B30% Seaires SOR otnod. W D08 Krmtagd Soege edigod BKS &) 8.20/283 Bt Hahdomd. VERSOL CpO...
SEDUIS Goood. ab EEESoEIS ) afrand HE Ho (R0, erdS ESo W B8 wEhE adiiiies eI, S o-grgySr doer, somyvoerd (e 20508 65 RoB0IRS’ 800 6HHE
Roetig sdEwo. Q858 wotrd. W P8 HEn0e0d® B0l woBBS (EFo W HSH 558 SYErS® Srdgd Songg W St oeap (fiPen, (e hexp » -

2. E%ArR0HE: ¥l of &fio S B Henonod® wigol S6 sod (o, W Y Hewonod® Bo8 waREH. 0508 (HEES0BZRE - 2BAHS ey @000 Do B8 PN DEBBOD.
SIS Gotood. ab VropgRioad, B ediod I B8 Feo eotod. S0t (Uranus): (S (feo (=h %6) W (R 19809 weses BDCHEDS
KrBigesath Baird’ K08, B Gecho &, FaHoEo &= © W42 ({£R0 58 Hoosren SON GotnoB. W ©SF0S® (0 SEEO B o Bmns® Y - gy o Jwgo gfen: 10

3. ¥6%: 500 Sorg Srdyicres B (55 Do, BB EREE A 5000 HAS ($9)%0 o YBore $oenod. ' W (P90 09083 ESeKEdsSEo 9 wo. o 5% Keo: @@5663 esd) 266
500508 Sl K808 Bgre W S Diwomod® Bep wsod 09 ErayS) BirHE08. W58 SYE Hokemdl 08 BHSm &) W Fwres Toth Ssen. oo,
Sty emifo. EEH50EZ08 Hseo. W 20008, Serdate B Sueg e, $KE Sooteo woEERime $YE Soodeo. Qg {eea0 o widen: &@ ﬁégé

4. D%08° Lroedl Pireren 708 S05 D3 $00D SRS BH%0B. aoeé (Neptune) W S Henoeod® T K isosRs Sgere  Soiireo ® OR: (8 B NS/ B0 TGO
"5(3505 a8 K)Oéégd Se08® 5208 (Hase (@Kﬁ@:@& &Ry S00D K)%’Qémé()é » 80 Km&)g&')é es)e%oé BrSore ¢ob. szﬁg& K)ég o000 90ETdD. (53& »oad 3"3«33 56&?6”? 0808 &8a0%: 565(’36
doifo &rocd) 508 BodE Ko 8BrHEeon) W g8 Brore sotieo S at K 28 a0l @ Erae 2enit. W ©0BBE0S® Krdgthy, e, Hoh ° §%0: S
29083°%). es@;m&:éé CHPAELD P08 o OO GotROB. » g):gsogﬁ 08D SYS 56- @ 2.8 0¥ Bep &ots es)5pehr Bo ({seea o 5038: 53"6‘] 4
Sosfido  EErmof’ Ty p o ¢ Heowod® e wrtgd 00 » (@S, Fo8 6 eyitier ayan. W S w8DEB- T @ DE)HSoB. ol TrEGIE drd 2 e e g e i, i
AR, BB Dreren SroeQ) @ 85 FPod®, Hosrmo  HKRE: 20086° LRES® (firo B (i 0BED W reoss® Hird 15 Jo By S8 T SONIEP e B3 Dk 8 <

gaden Bore a8 F$oS® @ob. 5555608 g8 RS HESoTh. SEEreTmom. 358 dovpen Byod. B3I @ach o

B ES Stap oo SrbER Xty DHEE ) wsod Jo s Ko (fEro. (Sxibeg (se0) &% e WOLRtd. & DIEHS*E o @5@556 (oc‘i 33@.’38)0‘5.)@5
867 @i DaegeR) ‘(fro’ woer. W 8O (Erom Dendeth. Snd) DBY (R0, a(Eo gD ot B8 Smred §556° o Tet0 S Ko Sohots EIBoS. ©

» Kirdgd) Bogore BB BY IS p ae Sabioy ) 4.5 OHS W e Sogore SR Ko iy 2008 FEIS 8 Ko 9% Virared el im0 =] [=]
SEgO® (Pen HOEWDE sotra. SosEoren. & )55 $556° 801 atdd afisren & 58 otrds. W ad odraeRy Bed’ A hEon. ; " -

» e B iﬁé&g 5 BKEQ)  » g avgéo (oo 55%6 12713.13 90¢7°%0. » O el e%séiﬁaéb FE Henowost wd MW &905553056 m"&gfﬁ, B0, & as 5-?;{
@690 ), BB ooz ELHE Koetiog 8.8, efmiocsy S 565 12756.32 8%  ooed G0, ad B8 T6 JodETH w¥I0 2.8 0¥ B Dt s )Rpedo Ko rfeea0 . o N
D bt DOELOBE Y WOEHLO Py aird HtoEEE ¥§ - 9.8 D/D..2 W afe U108 Soyghth DB aizro. 58508, QW th%on. w0l Hrdgds SoEht :
0L, W eru8 o adiie Komg-1 (Sohtd) W HoEhol, drdod Ho Breo Bro- W DSERrE 198668° E2000H. o) SNSHPE Soghth EF dEs )

» Sogo e 8. HED Both Sseenrr W @088 (S® afrdo DeB. 3,84,400 8.8 Sof 20626° E2oBH0B. &rdo es Do T, ardd Dot O] o
DRI, worrde (Mars) W S0 (55508 ey (5550 W G EE B o S5y 108 (155 Doy SRS & HES @roae) Bord s =

1. ©od8 (ien: 2, HED, W G () Sestts 0D Desdpth. 813 Ho%> G0N0 &egos. K5 o a0, 583 Dge @323%0
&, WP W P HOESs SPe0s HERS W B0 @issrwo 27 e T fobe (e Feren .. .

2. eming (fitben: eEe®, 99, 9B 00 $0B. 43 D0dpe. B oD, it (P08 Sutss (e e ® (8 308 628, Bworre adsh So
SBoeanthy, 08 W eorrS [(f55d) @ (o (Y (P0) W HoEhd (@i, HoEises seeren Foren aamon. DB apderant), o EA 03@,392.5 , PETETE %00 3 ¥rgeusb §°6% oS Fahod.

MODEL PAPER _ I 16. A container in the shape of an inverted
. cone has height 12cm and radius 6cm
MaX. MarkS: 75 Tlme: 3Hrs at the top. If it is filled with water at the
Section_ A rate of 12cm?/sec., what is the rate of
. change in the height of water level
I) Very Short Answer Questions: 10x 2 =20 cosax — cosbx s eso in A and B then show that AP-BP is a when the tank is filled 8cm?

i) Answer All Questions. 2 : constant . . ' ‘ .

Ei:) Each Quesl(i?m carries Twe marks f(r] = | X 24, A window in the shape of a rectangle 17.  Find the intervals in which the function

L Find the value of &, if the straight lines E(bt —az] if x=0 surmounted by a semicircle. If the f(x)=x"=3x" +41is strictly increasing
6x—10y+3=0 and kx—5y+8=0 where @ and b constant is continuous perimeter of the window be 2061, Find and decreasing for all x e R.
are parallel at x=10. the maximum Area. )

2. Find the value of ‘P’ if the lines 15. Find the derivative of ‘Tan2x’ using Section-C .
3x44y=52x+3y=4,Px+4y=06 are first principle. MODEL PAPER - II (III) Long Answer Questions:
concurrent. 16. A particle is moving along a line . 5 % 7= 35 Marks

3. Find fourth vertex of the parallelogram according to Max. Marks: 75 Time: 3Hl’S (i) Answer any Five Questions
whose consecutive vertices are S=f(t)=4r =3¢ +5t 1, where S Section-A ’ Y )
(2.4,-1)(3.6,-1)(4,5,1) is measure in meters and / is measure in . (i) Each Question carries Seven marks.

4, Find the equation of the plane is the foot seconds. Find the welocity and I) Very Short Answer Questions:  10x 2 =20 18.  Find the orthocentre of the triangle
of the perpendicular from origin to the acceleration at time /. At what time the ‘hose sides are 7x + 10=0.x-2
plane is (2,3,-5). acceleration is zero? (i) Answer All Questions. whose s x+ty-10=0,x-2y

31 17.  Find the 1engths of normal and (ii) Each Question carries Two marks. +5=0x+y+2=0.
5. Find li_r‘?]ﬁ subnormal at a point on the curve 1. Find the value of x, if the slope of the Section.B 19.  Show that the product of the
! ol al = = ) . ) ection- . ) )
] y=—|e"+e° |. line passing through (2, 5)and(x, 3)is 2. . ) . perpendicular distances from a point
6 Evaluate i 2x+3 T . . . ] (IT)  Short Answer Questions:
N valuate ; im m Section-C: 2. Find the equation of the straight line 5% 4= 20 Mark (a,ﬁ) to the pair of straight lines ax”+
: - . . x 4= arks
. . sing through th t(2, 3)and
7. Find the derivative of (III)  Long Answer Questions: passing through the point (2, 3) an . . . ‘ua’z +2haf + bﬁl‘
[ ' _ making intercepts, whose sum is zero. (i) Answer any Five Questions. Shxy +byi=0jsb—0u = 1|
WX 1 5x 7= 35 Marks Zhxy + by is = —.
y=tan I (i) Answer any Five Questions 3. Find the coordinates of the vertex ‘C’ (ii) Each Question carries Four marks. V(a—b)" +4h”
; s s dv (ii) Each Question carries seven marks. of A4BC ifits centroid is the origin & 11.  Find the equation of locus of a point 20.  Find the condition for the chord
8. Ifx=acos’t, y=asin ¢t find —. ; G T . L
Y dx 18. Fl:d the :-_"Ll”“‘ifiltf; 30]f( ;he ]tﬂ?%)lf the vertices A, B are (1, 1, 1) and the difference of whose distances from Ix+my =1 of the circle x + v =a
. e 2 whose vertices are (-2,3)(2,- X -

9. Fmdl{;‘\ilan% c]z’}. if y=x"+x when 1 Ifthe equation (-2, 4, 1) respectively. (-5, 0) and (5,0) is § units. (whose centre is the origin) to subtend
x= =0, ' 2 2 4. Findatraid of d.c’s of th al to th ; o

10.  Letf(x)=(x—1)(x-2)(x-3)prove S=ax’ +2hy +by” +2gx+2fy+c=0 NeaIEoT e s oT e normat o e 12, When the axes are rotated through an aright angle at the origin.

. . . planex+2y+2z-4=0. . . : i
that there is more than one “¢” in (1,3) Tfnpsfsfhn;; 2hp(?\:: ::li;lparallcl straight . ) angle 45, the transformed equation of 21.  Find the angle between the lines whose
= b . Xsinma-—=asmx .
such that /' (¢) =0 i)h' =ab ii) af* =bg”and > hm[T] acurve is 176 —16xy+17y* =225 Find d.o's arerelated by I+m+n=0&
Section-B iii) the distance between the parallel " the original ‘i fih Fam —n =0.
_— o (1 e original equation of the curve.
(1) Short Answer Quesn;ns; 20 Mark les 2 ' 6. Compute lim x smw]_ 22, Find the derivative of x™" +(sinx)™"
x 4 =20 Marks . R S L

(b Answer any Five Questions. a(a + b) 7. Find the derivative of log(sin"'e). 13.  Transform the equation P linto T

. . . 20.  Find the angle between the lines joining ) res y2 = d(x+

(ii) Each Question carries Four marks. the origin to the points of intersection of 8. Find dﬂ if 27 =3xy+ 3" +x+2y-8=0. normal form where a> 0, b > 0. If the 23.  S.T.the curves y” = 4(x+1),

9, o ‘ote . 2 . 5= v . . . 2= 36(9-x) intersect orthogonally.

11.  A(5,3),B(3,-2)are two fixed points. the curve x* +2xy+ 1" +2x+2y-5=0 0 e e side of B perpendicular distance of the straight ¥ gonally
Find the locus equation of P, so that the and the line 3x -y +1=0. : © Increase in the side of a square 1S . o 24. A wire of length | is cut into two parts
area of triangle PAB is 9 sq. units 21.  If a ray makes angles a,f,7,8 with 4% then find the approximate line from the origin is p then deduce which are bent respectively in the form of

12. \;‘:hen axes are rotated through an angle the fnur diag?rlals of a cube lr:cn find percentage of increase in the area of the 11 1 a square and a circle. What are the lengths
—, find the transformed equation of cos” @ +cos” fi+cos” y+cos J. square. poa b of picces of wire so that the sum of arcas

Vi+x® +41-%7 . P kix—k if x=1. is least?
'\—3 +2Vl'§xv— 1,:2 = 20’:‘ 22, It y=tan"|:—} then 10 Find ¢ so that f(c) = f(by— fla) where 14. If fis given b_vf(x}:{ . 15
L .I' > o2 . ' = — 2 0 x<l RA e

13.  Find the set of values of *a” if the points ¥ A= b-a V.DURGAP SAD Fﬁ
(1, 2) and (3, 4) lie to the same side of find ﬂ fx)=¢",a=0,b=1 a continuous function on R, then find k. SENIOR MATHS FACULTY !; “
the straight line 3x — 5y +a = 0. dy 15 Find the derivati f eosx fi h NANO JUNIOR COLLEGE, lr

14.  Show that 23.  Ifthe tangent at any point p on the curve ) ind the derivative of cosx from the MADHAPUR, HYD \

x"y" =a"" meets the coordinate axes first principle. 9701105881 ‘




